


HC VERMA 

SOLUTION: 

(a) (a) finding wfun forilo wmss but 
velouty= 0. 

d= =- 2x5on sin( 5ont t tan'o.75) o 

i.e 

dt 

sin( 5on t t tun o.75)]=o 
SO, sin =0 cwhcm tn7 

Sinco t comnvt ve ng ve, 
takme +ve vatudd. 

50nt t tan (0.75) = nn 

Clo, nap 6o_pn mnimum t 0 tokun 
or n=0 tbeoms -n 1 

50Ttt ton' (o.75) = 71 

t 77- tan (0. 75) = O.0/58S 

SOT &1.6 XIO 2ec. 

aucelwahon mu_f imo 
a= du- 

dt 

- X 50nx 5on cos/ 50nt t tan o.7)=o 

SO fur Qmax, ue nud ws E1 

amd fr minumum Ualue O7 fou t<o2 
77 

50nt + Ton (o.75) = 7 

t:7 tan /o.7S) = 1.6x10 Be 
S0n 

So whom hpdcRa come o riCt Vao} accelnas 
ma. 



or deind tmb rat 

rom (a) w hare 

50ntt tan (o.75) = n7 

CO 

he n=2 7 first time n=1 

t an - tan'(o.75) = Oo358 

SOn 3,6X10 Ac 
Sund wa 

Afr irt sut, we kmow that arliols 

awell ret agan a 2 

T &n here w: 507 from eguahen) 
2 

4X10&e 
5OM 

-2 = 2X1Dc 

AD finol amsure = 1first hme rest 1 

2 
I.6xio 2x/ 3.6xi0"sec. 

n 

Sewndrest first raot 
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